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bl iqfLrdk ij dqN Hkh fy[kus ls igysbl iqfLrdk ij dqN Hkh fy[kus ls igys
fuEufyf[kr funsZ'k /;kuiwoZd i<+safuEufyf[kr funsZ'k /;kuiwoZd i<+sa

1-1- viuk mÙkj fy[kuk çkjEHk djus ls igys viuh ç'u iqfLrdk dh Hkyh&Hkk¡fr tk¡p dj ysa] ns[k ysa fd blesa mijksä ç”uksa dh la[;k viuk mÙkj fy[kuk çkjEHk djus ls igys viuh ç'u iqfLrdk dh Hkyh&Hkk¡fr tk¡p dj ysa] ns[k ysa fd blesa mijksä ç”uksa dh la[;k 
bafxr gSa vkSj blesa fçafVax laca/kh vFkok vU; fdLe dh dksbZ deh ugha gSA ;fn fdlh çdkj dh dksbZ deh gks rks i;Zos{kd dks lwfpr bafxr gSa vkSj blesa fçafVax laca/kh vFkok vU; fdLe dh dksbZ deh ugha gSA ;fn fdlh çdkj dh dksbZ deh gks rks i;Zos{kd dks lwfpr 
djsa rFkk iqfLrdk cny ysaA mÙkj nsus ls iwoZ vki ;g vo'; lqfuf'pr djsa fd vkidks lgh fo|k'kk[kk iqfLrdk feyh gSAdjsa rFkk iqfLrdk cny ysaA mÙkj nsus ls iwoZ vki ;g vo'; lqfuf'pr djsa fd vkidks lgh fo|k'kk[kk iqfLrdk feyh gSA 

2-2- viuk uke] vuqØekad la[;k vkSj vks-,e-vkj- viuk uke] vuqØekad la[;k vkSj vks-,e-vkj- (OMR) la[;k vkeq[k i`"B ij fy[ksaA mÙkj i= ij uhys@dkys ckWy Iokb±V isu ls  la[;k vkeq[k i`"B ij fy[ksaA mÙkj i= ij uhys@dkys ckWy Iokb±V isu ls 
HkjsaA mÙkj if=dk ij viuk uke fyf[k, rFkk gLrk{kj dhft,AHkjsaA mÙkj if=dk ij viuk uke fyf[k, rFkk gLrk{kj dhft,A 

3-3- ;g ,d oLrqijd fdLe dh ijh{kk gS ftlesa çR;sd ç'u ds uhps Øekad  ;g ,d oLrqijd fdLe dh ijh{kk gS ftlesa çR;sd ç'u ds uhps Øekad (A)(A) lsls (D)(D) rd pkj çLrkfor mÙkj fn;s gSaA vkids fopkj  rd pkj çLrkfor mÙkj fn;s gSaA vkids fopkj 
esa tks Hkh mÙkj lgh gS mldks vks-,e-vkj- mÙkj i= esa fpfUgr dhft,A vius mÙkj ç'u iqfLrdk esa u yxk,A esa tks Hkh mÙkj lgh gS mldks vks-,e-vkj- mÙkj i= esa fpfUgr dhft,A vius mÙkj ç'u iqfLrdk esa u yxk,A 

4-4- lHkh ç”u vfuok;Z gSaA lHkh ç”u vfuok;Z gSaA 

5-5- mÙkj&i= ij u rks jQ+ dk;Z djsa u gh vkSj fdlh çdkj dk fu'kku vkfn yxk,a ;k bls eksaM+sA mÙkj&i= ij u rks jQ+ dk;Z djsa u gh vkSj fdlh çdkj dk fu'kku vkfn yxk,a ;k bls eksaM+sA 

6-6- mÙkj if=dk bysDVªkWfud ek/;e ls lalkf/kr dh tk;sxhA vr% bls eksM+us ;k ;=&r= fpUg yxkus vFkok mÙkj if=dk dks [kjkc mÙkj if=dk bysDVªkWfud ek/;e ls lalkf/kr dh tk;sxhA vr% bls eksM+us ;k ;=&r= fpUg yxkus vFkok mÙkj if=dk dks [kjkc 
djus ,oa viw.kZ@vlR; Hkjus ij mÙkj if=dk dks fujLr fd;k tk ldrk gS ,oa bldh iwjh ftEesnkjh vH;FkÊ ij gksxhAdjus ,oa viw.kZ@vlR; Hkjus ij mÙkj if=dk dks fujLr fd;k tk ldrk gS ,oa bldh iwjh ftEesnkjh vH;FkÊ ij gksxhA 

7-7- jQ+ dk;Z iqfLrdk esa fdlh Hkh [kkyh LFkku esa fd;k tkuk pkfg,A fdlh vU; dkx+t ij bls djus dh vuqefr ugha gSA jQ+ dk;Z iqfLrdk esa fdlh Hkh [kkyh LFkku esa fd;k tkuk pkfg,A fdlh vU; dkx+t ij bls djus dh vuqefr ugha gSA

8-8- gj ,d ç'u ds fy, dsoy ,d gh mÙkj bafxr djsaA ,d ls vf/kd mÙkj nsus ij ç'u dk dksbZ vad ugha fn;k tk,xkA mÙkj esa gj ,d ç'u ds fy, dsoy ,d gh mÙkj bafxr djsaA ,d ls vf/kd mÙkj nsus ij ç'u dk dksbZ vad ugha fn;k tk,xkA mÙkj esa 
dksbZ Hkh dfVax ;k vksojjkbZfVax ekU; ugha gksxhA iqu% ç'u i= f}Hkk"kh; ¼fgUnh ,oa vaxzsth½ esa gSA fgUnh laLdj.k esa fdlh Hkh fHkUurk dksbZ Hkh dfVax ;k vksojjkbZfVax ekU; ugha gksxhA iqu% ç'u i= f}Hkk"kh; ¼fgUnh ,oa vaxzsth½ esa gSA fgUnh laLdj.k esa fdlh Hkh fHkUurk 
gksus ij ewY;kadu ds fy, vaxzsth laLdj.k dks vfUre ekuk tk;sxkA gksus ij ewY;kadu ds fy, vaxzsth laLdj.k dks vfUre ekuk tk;sxkA 

9-9- dsYdqysVj] LykbM:y] eksckbZy] dsYdqysVj ?kfM+;k¡ ;k bl çdkj dh dksbZ Hkh ;qfä ,oa fdlh Hkh v/;;u@lanHkZ lkexzh vkfn dk  dsYdqysVj] LykbM:y] eksckbZy] dsYdqysVj ?kfM+;k¡ ;k bl çdkj dh dksbZ Hkh ;qfä ,oa fdlh Hkh v/;;u@lanHkZ lkexzh vkfn dk 
ç;ksx ijh{kk d{k esa oftZr gSA ç;ksx ijh{kk d{k esa oftZr gSA 

10-10- ijh{kk dh lekfIr ds i'pkr~ viuh mÙkj&if=dk i;Zos{kd dks okil dj nsaA vks-,e-vkj- mÙkj if=dk dks ijh{kk d{k ls ckgj ys ijh{kk dh lekfIr ds i'pkr~ viuh mÙkj&if=dk i;Zos{kd dks okil dj nsaA vks-,e-vkj- mÙkj if=dk dks ijh{kk d{k ls ckgj ys 
tkuk oftZr gS ,slk djuk n.M.kh; vijk/k gSAtkuk oftZr gS ,slk djuk n.M.kh; vijk/k gSA

11-11- iz'u i= esa fodYiiz'u i= esa fodYi ^d*] ^[k*] ^x*] ^?k* ds LFkku ij^d*] ^[k*] ^x*] ^?k* ds LFkku ij OMR Sheet esa ^d*esa ^d* ds fy,ds fy, 1, ^[k*^[k* ds fy,ds fy, 2, ^x* ds fy, ^x* ds fy, 3 rFkk rFkk ^?k*^?k* ds fy,ds fy, 
4 fodYi okyk gh xksyk dkyk djssaAokyk gh xksyk dkyk djssaA
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Part I ESI Scheme

1 Employees State Insurance Scheme started from the
places :

1         :

(a) Delhi & Kolkata (b) Mumbai & Delhi (a)   (b)   
(c) Delhi & Chennai (d) Delhi & Kanpur (c)   (d)   

2 MEUD (Modified Employer Utilization Dispensary) is : 2     (   ) :
(a) Dispensary run by ESIC for employers (a) 0 0 0 0      

(b) Dispensary run by IPs for employers (b)       

(c) Dispensary run by Employer for IPs (c)       
(d) Dispensary for employers only (d)    

3 Under Section 59 B of ESI Act, ESIC may establish : 3      59    
0 0 0 0     :

(a) Medical Colleges (b) Nursing Colleges (a)  (b)  
(c) Training institutes for para
medical staff

(d) All of them (c)     (d)    

4 Dependent Benefit is admissible in case of : 4         :
(a) Death of dependent (b) Death of IP out of

employment injury
(a)    (b)    

   
 

(c) Natural death of IP (d) No provision under
ESI Act

(c)     (d) 0 0 0

  
  

5 Who is the Chairman of Medical Benefit Council : 5       :
(a) Medical Commissioner (b) Minister of Labour,

GOI
(a)  (b)    

(c) Secretary Labour, GOI (d) Director General (c)    (d)

6 The rate of contribution in newly implemented area
under ESIC 2.0 is :

6  2.0         :

(a) 4% (b) 6.5% (a) 4% (b) 6.5%

(c) 5% (d) 4.5% (c) 5% (d) 4.5%

15

Rough Work
jQ dk;ZjQ dk;Z
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Rough Work
jQ dk;ZjQ dk;Z

3

7 11th Annual Central Sports Meet of the ESI Corporation
was held at:

7 0 0 0   11     
 ....................    :

(a) New Delhi (b) Chennai (a)  (b)
(c) Ranchi (d) Hyderabad (c) (d)

8 Dependent of IP is eligible for Super Speciality Treatment
after ……… continuous service by Ip:

8        
  ................       

 :
(a) 1 Year (b) 2 Year (a) 1 (b) 2
(c) 39 days (d) 180 days (c) 39 (d) 180

9 The current limit to cover an employee under ESI
Scheme is :

9   0 0 0      
       :

(a) Rs. 15000 per month (b) Rs. 18000 per
month

(a) 0 15000 (b) 0 18000

(c) Rs. 20000 per month (d) Rs. 21000 per
month

(c) 0 20000 (d) 0 21000

10 Which of the following relatives of an IP is covered under
the definition of 'Family' without being dependent on
the earnings of the IP :

10          
        ' '  
    :

(a) Spouse (b) Minor child (a) (b)  
(c) Infirm child (d) Parents of IP (c)  (d)   

 -

part II Arithmetic

11 A sum of money is divided among A,B,C and D in the
proportion of 7:6:3:5. If B gets Rs. 270 more than C, then
share of D is :

11   A,B,C   7:6:3:5      ,

 B  C  0 270/    D    
 :

(a) Rs.250 (b) Rs. 350 (a) 0 250 (b) 0 350
(c) Rs. 450 (d) Rs. 455 (c) 0 450 (d) 0 455

12 The listed price of a shirt is Rs. 270 and it is available at
Rs. 237.60. The rate of discount is :

12     0 270/    0 237.60/

     :     :
(a) 10% (b) 12% (a) 10% (b) 12%

(c) 15% (d) 20% (c) 15% (d) 20%

13 Some staff promised to do a job in 18 days but 6 of them
went on leave. So the remaining men took 20 days to
complete the job. How many men were there originally :

13      18      
     6      

    20     : 
        :

(a) 55 (b) 62 (a) 55 (b) 62

(c) 56 (d) 60 (c) 56 (d) 60
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14 The area of a square park is 25 sq. km. The time taken to
complete a round of the park once, at a speed of 4 km/h
is :

14     25  0     4
           
?

(a) 4 h 10 min (b) 5 h 0 min (a) 4  10 (b) 5  0
(c) 6 h 30 min (d) 5 h 30 min (c) 6  30 (d) 5  30

15 Three numbers are in the ratio 1:2:3 and their HCF is 12.
The numbers are:

15    1:2:3     
 12   :

(a) 4,8,12 (b) 5,10,15 (a) 4,8,12 (b) 5,10,15

(c) 10,20,30 (d) 12,24,36 (c) 10,20,30 (d) 12,24,36

16 what percent of 2/7 is 1/35 ? 16 1/35    2/7  ?
(a) 35% (b) 10% (a) 35% (b) 10%

(c) 25% (d) 15% (c) 25% (d) 15%

17 If x + x =4 then the value of x³ + 1/ x³ is : 17 x + x = 4  x³ +1/x³    :
(a) 52 (b) 64 (a) 52 (b) 64

(c) 68 (d) 76 (c) 68 (d) 76

18 A cricketer's average of 20 innings was 32. Hou many
runs he has to score in next inning to increase his
average by 4 runs :

18    20       
 32         
   4    ?

(a) 118 (b) 116 (a) 118 (b) 116

(c) 80 (d) 200 (c) 80 (d) 200

19 The ratio of two numbers is 5:8. If the difference of
numbers is 48, find out the smaller number.

19    5:8     48 ,  
   

(a) 80 (b) 96 (a) 80 (b) 96

(c) 128 (d) 64 (c) 128 (d) 64

20 which of the following fraction is the smallest : 20         :
(a) 5/13 (b) 6/14 (a) 5/13 (b) 6/14

(c) 7/15 (d) 8/16 (c) 7/15 (d) 8/16

21 A completes 3/5 part of a work in 15 days, while B
completes 2/5 part of the same work in 10 days. In how
many days will they complete doing the work together?

21 A    3/5   15      B  
 2/5   10        

       ?

(a) 10 (b) 25 (a) 10 (b) 25

(c) 12½ (d) 15 (c) 12 2 (d) 15

13

94 (a) Genarator (b) Generator (c) Generater (d) Genorator

95 (a) Hemoganeous (b) Homageneous (c) Homogenus (d) Homogeneous

Directions (96 100) : A part of sentence is underlined which may need improvement. Alternative are given at (a), (b) and (c)
below, which may be better option. In case no improvement is needed, your answer is (d).

96 The cheapest electronic good are manufactured in China.
(a) electronical good (b) electrical good (c) electronic goods (d) No improvement

97 I have been living in Delhi from 1998.
(a) eversince (b) since (c) in (d) No improvement

98 He is a descendant fromMughal royalty.
(a) of (b) in (c) for (d) No improvement

99 Mary would not go to the market unloess I go with her.
(a) shall go (b) went (c) would go (d) No improvement

100 Flowers embellishment the beauty of our surrounds.
(a) replenish (b) enhance (c) destroys (d) No improvement
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83 Defer

(a) Indifferent (b) Defy (c) Differ (d) Postpone

Directions (84 87) : In the questions given below,sentences are given with blanks to be filled in with appropriate word(s).
Four alternatives are suggested for each question. Choose the correct alternative out of four.

84 We visit Delhi frequently; however, we have never ………………………. Gurugram.
(a) visited to (b) been too (c) been to (d) went to

85 He was junior ……………………. me in college and we have been friends since then.
(a) than (b) from (c) to (d) with

86 The ……………………… in the region has been pleasant recently.
(a) weather (b) whether (c) season (d) climate

87 ……………………….. following all the instructions closely, he missed out an important guideline.
(a) Although (b) Carefully (c) Otherwise (d) Instead of

Directions (88 91) : In the questions given below, out of four alternatives, choose the one which can be substituted for the
given words/sentence.

88 Fit to be eaten
(a) Credible (b) Audible (c) Edible (d) Legible

89 Unfair advantages for members of one's own family
(a) Plagiarism (b) Nepotism (c) Regionalism (d) Optimism

90 A proficient public speaker
(a) Orator (b) Narrator (c) Arbitrator (d) Curator

91 Always ready to attack or quarrel
(a) Impatient (b) Malicious (c) Aggressive (d) Creative

Directions (92 95) : In the following questions, group of four words are given. In each group, one word is correctly spelt.
Find the correctly spelt word.

92 Livelihood (b) Livelyhood (c) Livilihood (d) Livelyhud

93 (a) Irelevant (b) Irrelavent (c) Irelevent (d) Irrelevant

5

22 A missile travels at 1350 km/hr. How many meters does
it travel in one second?

22   1350        
 
     ?

(a) 369 m (b) 375 m (a) 369 0 (b) 375 0
(c) 356 m (d) 337 m (c) 356 0 (d) 337 0

23 The ratio of two numbers is 3:4 and their LCM is 120. The
sum of numbers is :

23    3:4      
120    :

(a) 70 (b) 140 (a) 70 (b) 140

(c) 35 (d) 105 (c) 35 (d) 105

24 50% of a number is added to 50 is equal to the number.
The number is :

24     50%  50       
   :  :

(a) 100 (b) 75 (a) 100 (b) 75

(c) 50 (d) 150 (c) 50 (d) 150

25 There is 10% loss if an article is sold at Rs.270/ . Then the
cost price of the article is :

25       10%    0

270/        :
(a) Rs. 300 (b) Rs. 250 (a) 0 300 (b) 0 250
(c) Rs. 270 (d) Rs. 320 (c) 0 270 (d) 0 320

26 The difference between the greatest and least four digit
numbers that begins with 3 and ends with 5 is :

26           
  3        5  
 ,    :

(a) 900 (b) 909 (a) 900 (b) 909

(c) 999 (d) 990 (c) 999 (d) 990

27 A pipe can fill a tank in 24 hours. Due to leakage in the
bottom, it is filled in 36 hours. If the tank is half full, how
much time will the leak take to empty the tank :

27     24         
      36       
          :

(a) 24 hours (b) 48 hours (a) 24 (b) 48
(c) 72 hours (d) 36 hours (c) 72 (d) 36

28 A bus completes its journey in 6 hours at the speed of 60
Km/hour. If the same journey is to be undertaken in 9
hours, the speed of bus will be :

28     60        6
           9  

      /      
?

(a) 60 km/hr (b) 40 km/hr (a) 60 / (b) 40 /
(c) 30 km/hr (d) 35 km/hr (c) 30 / (d) 35 /
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29 Mohan sold a cow for Rs. 136 with a loss of 15%. If he
has to earn a profit of 15%, he should sell the cow in
Rs………. :

29     136       15%  
  ,  15%       

   ?
(a) Rs. 204 (b) Rs. 150 (a) 0 204 (b) 0 150
(c) Rs. 180 (d) Rs. 184 (c) 0 180 (d) 0 184

30 If the ratio of fixed amount and total interest on it after
5 years is 10:3, then the rate of interest is :

30    5     10:3   
   :

(a) 5% (b) 8% (a) 5% (b) 8%

(c) 6% (d) 3% (c) 6% (d) 3%

31 The compound interest on Rs. 10000 at the rate of 10%
for two years is :

31 0 10000/  10%         :

(a) Rs. 2100 (b) Rs. 2000 (a) 0 2100 (b) 0 2000
(c) Rs. 2500 (d) Rs. 2200 (c) 0 2500 (d) 0 2200

32 In a cricket match Virat, Rohit and Dhoni together score
185 runs. Virat and Rohit together score 115 runs and
Rohit and Dhoni together score 125 runs. The runs
scored by Virat, Rohit and Dhoni are :

32    ,      185
        115     
   125   ,      

  :
(a) 60,55,70 (b) 65,55,65 (a) 60,55,70 (b) 65,55,65

(c) 50,65,75 (d) 70,60,55 (c) 50,65,75 (d) 70,60,55

33 A work may be completed by a man in 4 days. Work of
two men is equal to work of three women. If the work is
completed in one day, how many men and women
worked together to complete it?

33     4         
  3          

          :

(a) 2 men 2 women (b) 1 man 3 women (a) 2  2 (b) 1  3
(c) 2 men 3 women (d) 2 men 1 women (c) 2  3 (d) 2  1

34 A Teacher while calculating the average marks of 100
students of an examination by mistake enters 68 instead
of 86 and obtained the average as 58. The actual average
marks of those students is :

34      100    
       86  68  
         58
 :       :

(a) 57.82 (b) 58.18 (a) 57.82 (b) 58.18

(c) 58.81 (d) 57.28 (c) 58.81 (d) 57.28

35 If the difference between simple interest and compound
interest on a certain sum of money for 3 years at 10% is
Rs.31, the sum is :

35    3  10%      
       0 31   
 :

(a) Rs.500 (b) Rs.750 (a) 0 500 (b) 0 750
(c) Rs.1000 (d) Rs.1250 (c) 0 1000 (d) 0 1250

11

73 'Penalty Corner' is associated with : 73  '      :
(a) Weightlifting (b) Hockey (a) (b)
(c) Cricket (d) Football (c) (d)

74 Which sport is not played indoor : 74        :
(a) Golf (b) Badminton (a) (b)
(c) Table Tennis (d) Chess (c) - (d)

75 The first Indian player who won the individual gold
medal in Olympic Games is :

75         
      :

(a) Prakas Padukone (b) Milkha singh (a)  (b)  
(c) Abhinav Bindra (d) P T Usha (c)  (d) 0 0

Part IV English

Directions (76 79) : In the following questions, choose the word opposite in meaning to the given word.
76 Illicit

(a) Approved (b) Noble (c) Legal (d) Correct

77 Demand
(a) Request (b) Supply (c) Pettition (d) Claim

78 Wise
(a) Stupid (b) Gentle (c) Polite (d) Lazy

79 Lead
(a) Guide (b) Follow (c) Direct (d) Conduct

Directions (80 83) : In the questions given below, out of the four alternatives, choose the one which best expresses the
meaning of the given word.

80 Request
(a) Suggest (b) Please (c) Offer (d) Ask

81 Change
(a) Alter (b) Renew (c) Review (d) repeat

82 Genuine
(a) Good (b) Real (c) Attractive (d) Lovable
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63 Typhoid fever is caused by : 63      :
(a) Bacteria (b) Virus (a) (b)
(c) Protozoa (d) Fungi (c) (d)

64 Chemical name of common salt is : 64       :
(a) Sodium bicarbonate (b) Sodium chloride (a)  (b)  
(c) Sodium (d) Sodium oxide (c) (d)  

65 Hard copies can be obtained from : 65         :
(a) Scanner (b) Speaker (a) (b)
(c) Printer (d) Recorder (c) (d)

66 In which country the Commonwealth Games held in the
month of April 2018 :

66  2018         
 :

(a) India (b) Australia (a) (b)
(c) England (d) Newzeland (c) (d)

67 In Commonwealth Games hald at Gold Coast, in medal
telly India finished :

67          
     :

(a) 4th (b) 5th (a) (b)
(c) 3rd (d) 2nd (c) (d)

68 In which discipline India won maximum gold medal at
Gold Coast Commonwealth Games :

68          
   :

(a) Shooting (b) Wrestling (a) (b)
(c) Boxing (d) Badminton (c) (d)

69 Which country is going to host 2018 FIFA Football World
Cup :

69    2018      
   :

(a) England (b) China (a) (b)
(c) Russia (d) Argentina (c) (d)

70 Vishwanathan Anand is associated with : 70        :
(a) Tennis (b) Chess (a) (b)
(c) Football (d) Hockey (c) (d)

71 How many teams are playing in IPL 11 : 71 0 0 0 11       :
(a) 6 (b) 8 (a) 6 (b) 8

(c) 10 (d) 12 (c) 10 (d) 12

72 Manika Batra is associated with : 72        :
(a) Tennis (b) Shooting (a) (b)
(c) Wrestling (d) Table Tennis (c) (d) -
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PART III General Awareness

36 The Indian Parliament House was designed by : 36          
  :

(a) Alvar Alto (b) Michael Graves (a)  (b)  
(c) Hafiz Contractor (d) Edwin lutyens (c)  (d)  

37 The orange colour of carrot is because of : 37        :
(a) It grows in the soil (b) Carotene (a)     (b)
(c) it is not exposed to sunlight (d) the entire plant is

orange in colour
(c)       (d)    

 
 

38 The highest airport in India is : 38        :
(a) Dharmshala airport (b) Pithoragarh airport (a)  (b)  
(c) Leh airport (d) Dehradun airport (c)  (d)  

39 Which company developed Java : 39        :
(a) Microsoft (b) Sun (a) (b)
(c) IBM (d) Oracle (c) 0 0 0 (d)

40 Battle of Kannauj was fought in the year : 40         :
(a) 1540 (b) 1764 (a) 1540 (b) 1764

(c) 1526 (d) 1857 (c) 1526 (d) 1857

41 Who wrote the Harry Potter series : 41         :
(a) Jutolkins (b) George R R Martin (a) (b)    

(c) J K Rowlling (d) Stephen king (c)   (d)  

42 Who invented the safety razor : 42         :
(a) Lar Strauss (b) Gillette (a)  (b)
(c) Steve Job (d) Steve Cher (c)  (d)  

43 How many states are there in the Indian Union : 43       :
(a) 30 (b) 27 (a) 30 (b) 27

(c) 29 (d) 28 (c) 29 (d) 28

44 Phycology is the study of : 44       :
(a) Fungi (b) Lichens (a) (b)
(c) Bacteria (d) Algae (c) (d)
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45 Who was Akbar's famous Revenue Minister : 45        :
(a) Tansen (b) Rana pratap (a) (b)  
(c) Man singh (d) Todar mal (c) (d)

46 Worlds largest producer of coffee : 46        :
(a) Brazil (b) Argentina (a) (b)
(c) India (d) Peru (c) (d)

47 Which Act is recently amended in connection with rape
cases against minor girls :

47         
      :

(a) FERA (b) POCSO (a) (b)
(c) AACG (d) MISA (c) (d)

48 Dry ice is solid form of : 48      :
(a) Nitrogen (b) Air (a) (b)
(c) Water (d) Carbon dioxide (c) (d)  

49 Name the oldest Indian Civilization : 49        :
(a) Mesopotamian Civilization (b) Egyptian

Civilization
(a)  (b)   

(c) Indus Valley Civilization (d) None of these (c)  (d)    

50 Taka is the currency of : 50     :
(a) Nepal (b) Bangladesh (a) (b)
(c) Srilanka (d) Bhutan (c) (d)

51 Who invented aeroplane : 51         :
(a) Hoffman (b) Wright Brothers (a) (b)  
(c) Edison (d) Stevenson (c) (d)

52 Lungs of a plant are: 52       :
(a) Flowers (b) Roots (a) (b)
(c) Leaves (d) Stems (c) (d)

53 The Headquarter of Asian Development Bank is situated
at :

53        :

(a) Manila (b) New Delhi (a) (b)  
(c) Singapore (d) Bejing (c) (d)
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54 River Ganga originates from : 54       :
(a) Gangotri (b) Gomukh (a) (b)
(c) Rishikesh (d) Haridwar (c) (d)

55 The capital of Meghalaya is : 55     :
(a) Guwahati (b) Imphal (a) (b)
(c) Kohima (d) Shillong (c) (d)

56 Deficiency of haemoglobin causes : 56        :
(a) Skin disease (b) Colour blindness (a)  (b)
(c) Anaemia (d) Bronchitis (c) (d)

57 The Author of Discovery of India was : 57       :
(a) Jawahar Lal Nehru (b) Mahatma Gandhi (a)  (b)  
(c) Jagjiwan Ram (d) B.R.Ambedkar (c)  (d) 0 0

58 Which place is called as 'Silicon Valley' of India : 58      '  '    :
(a) Delhi (b) Bangluru (a) (b)
(c) Pune (d) Hydrabad (c) (d)

59 The First Battle of Panipat was fought between : 59         :
(a) Shershah and Humayun (b) Akbar and Rana

Pratap
(a)   (b)    

(c) Shahjahan and Shivaji (d) Babar and Ibrahim
Lodhi

(c)   (d)    

60 The first woman to get the Bharat Ratna Award is : 60         :
(a) Mother Teresa (b) Indira Gandhi (a)  (b)  
(c) Lata Mangeshkar (d) Sarojini Naidu (c)  (d)  

61 Who was the first sportsman to get the Bharat Ratna
Award:

61        :

(a) Dhyanchand (b) Satpal (a) (b)
(c) Sachin Tendulakar (d) Sunil Gavaskar (c)  (d)  

62 'Meghdoot' was written by : 62 '    :
(a) Ved Vyasa (b) Khushwant Singh (a) (b)  
(c) Banabhatta (d) Kalidasa (c) (d)


